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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

31- A: Can you come to our party on Saturday night?

B: ’m so sorry! I can’t. I ... visit my grandmother at that time.
1) will 2) won’t 3) am going to 4) am not going to
32- Don’t worry, Steve! I’m sure there will not be a ... man than you tomorrow!

1) more happy 2) happier 3) most happy 4) happiest

33- You should ... yourself lucky that you didn’t get injured in that terrible accident.
1) donate 2) collect 3) compare 4) consider

34- He doesn’t like to talk about his problem. Sadly, he isn’t able to share his ... with anyone else.
1) pain 2) orbit 3) ring 4) danger
35-1 don’t think Mrs. Miller has the essential ... to be a nurse. She is so nervous and impatient.

1) qualities 2) opinions 3) elements 4) organs

36- If you have a ... computer, you should have no trouble running the program.
1) strange 2) fresh 3) powerful 4) rocky

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Namibia, a country in Southern Africa, had many problems in 1971. The country was at war from 1966 to 1990.
Because of the fighting, many people had rifles. This caused a secondary problem—poaching. For example,
poachers killed many black rhinos for their horns, which were very valuable. By 1995, there were only 20 lions
left in the Kunene region in the northwest of the country. Many other species were also endangered.

At the same time, positive changes were taking place. A non-governmental organization, the Integrated Rural

Development and Nature Conservation (IRDNC), began working in Namibia to protect wildlife. They met with
village leaders to ask who would be able to work with them. They needed people who knew the bush well and
who understood how wild animals lived. The answer was surprising: work with local poacher.

Since then, the situation has changed dramatically. The Kunene region now has more than 130 lions. The black

rhino, almost extinct in 1982, has come back, and there are now many free-roaming black rhinos in Kunene.

37- What was the main reason behind poaching in Namibia?
1) The value of black rhinos
2) The number of guns people had
3) the changes brought about by IRDNC

4) The number of lions

[ (Jlows POo) (1) ualSil ob) gals OBS ViICe G 1€9) C)l)\i;m]
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38- Which statement is NOT true, according to the passage?
1) IRDNC is an organization to protect wildlife.
2) A large group of species were endangered.
3) In 1971, Namibia had many problems.
4) The IRDNC started working in Namibia before 1971.

39- IRDNC asked native poachers to work with them because they ... .
1) could hunt better
2) had rifles
3) needed money
4) knew wild animals better

40- The passage provides enough information to answer which of the following question?
1) How did the poachers become caretakers of wildlife?
2) Why were the species endangered?
3) Which animal was hunted for its horns?
4) How did the native leaders help IRDNC?

GT ¥ (1) om0
~
PART C: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer

sheet.

41- A: I want to drink a cup of coffee, but I don’t have any money with me.
B: No problem. I ... you a cup of coffee.
1) buy 2) will buy 3) was buying 4) am going to buy
42- The teacher turned around at the ... possible time and told him to pay more attention to the lesson.
1) less 2) worse 3) worst 4) more
43- A/An ... is the smallest part of a living thing in animals and humans which can live by itself.
1) object 2) hint 3) cell 4) drop

44- When the students came to the ..., they stopped talking with each other and looked with wonder at the

amazing telescope and planets models.
1) future 2) plain 3) heaven 4) observatory

45- My aunt ... against a very bad illness for a year. Unfortunately, she died last week at the age of 44.
1) flew 2) fought 3) landed 4) found

46- The ... organized creation of the world shows that it has a great creator.
1) orally 2) carefully 3) dangerously 4) hopefully

PART D: Cloze test
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

We want our children to be healthy and safe, but they are surrounded by the potential for harm on a daily
basis. Fortunately the injuries and ...(47)... that impact most children can be stopped. We offer tips for parents
that help them ...(48)... their children .

Hand washing is one of ...(49)... important things we can do to prevent the spread of infection. Thus, parents
should ...(50)... time to help young children wash their hands properly.

47- 1) facts 2) illnesses 3) details 4) materials
48- 1) identify 2) describe 3) carry 4) protect
49- 1) much more 2) the most 3) most 4) more

50- 1) give 2) ask 3) take 4) get
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